RESPUESTAS A LOS EJERCICIOS DE LECCION 27

Respuesta ejercicio 1:

plagl|r|gvr|ipA(gVvr)|pA(gvr))=r
ViviVv| Vv V V
VIVI|IF| V V a
VIF|V |V % V
VIF|F| F F V
FlVIV] V F %
FIVI|IF| V F %
F|IF|\V ]V F V
F|\F|\F| F F V

Respuesta ejercicio 2:

plg|r|lpir)|(gvr)|(pir)<(qVr)
Vv v v v
Vv F ! F
VI|F|V 4 | v
VI|F|F| F I v
FlV|V I 1 F
POV I 1 F
FF|V r 1 F
FE ! I v

Respuesta ejercicio 3:
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Respuesta ejercicio 4:

plaq|~p|lCpvqg)
V V| F v
V| F|F F
Fl Vv |V v
F | F |V v

Respuesta ejercicio 5:

Pl g |~pl(~pvqd) | ~q|(~pVvA~q
V ") F " F F
V|FI|F F Vv F
F V V vV F F
F|F | V V Vv v

Respuesta ejercicio 6:

pgqr p>q =~(p>q) ra~(p—>q)
VVV v F F
VVE v F F
VEV F v v
viFlr| F v F
FVV Vv F F
FVF Vv F F
FFV V F F
FFF V F F



Respuesta ejercicio 7:
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Ejercicio 8:
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Ejercicio 9:

~q ]

(gor) ] o [(par~r) —

—

LL>~"LL>>

SL>=>2>>535,

L>0L > b

>>2>22>22>22>22>>

SL>>2>uL ==

S>>

= i T TE TH T

PL>>LwL 2L

S>FLL>>ww

- i ) T TE TH) T



Ejercicio 10:
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